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Solutions to IITJEE-2006

Mathematics

Time: 2 hours

Note:

Sol.

Sol.

Sal.

Question number 1 to 12 carries (3, -1) marks each, 13 to 20 carries (5, -1) marks each, 21 to 32
carries (5, -2) marks each and 33 to 40 carries (6, 0) marks each.

Section — A (Single Option Correct)

For x > 0, Iim((sinx)“x +(1/x)S'”X) is
x—0

(GYLY
€)1

(B)-1
(D) 2

©

Iim[(sinx)”x +(1TM]
x—0 X

o 1
limsinxIn| =

0+ &® x] =1 (using L’ Hospital’srule).

_[ x?-1
x3v2x* —2x% +1
Vaxt—2x2+1 Vaxt—2x2+1

(A) Z=— = e (B) ~Z = e

ot — o 41 Joxt —ox? 41
© 2X7—=2x“+1 te D) 2X 22x +1 re
X 2X

dx isequal to

Given an isosceles triangle, whose one angle is 120° and radius of itsincircle = /3. Then the area of the tri anglein sg.
unitsis

(A) 7+12+/3 (B)12- 73
(C)12+7+3 (D) 4n
© 5
_N3.,
A="b (D)
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sin120 :smso - a:\/§b
a

Also

and A=+3s and s:%(a+2b)

N

- A=73(a+2b) @

From (1) and (2), we get A = (12 + 7\/5) .

4, If 0 < 0 < 2r, then the intervals of values of 0 for which 2sin’0 —5sind + 2> 0, is
T 5n n 5n
A) |0, — —, 2 B) | =, —
()( 6]U(6 ”] ()(8 6]
(C)[o,f]kJ(E,§Ej (D)(fiﬁ,n]
8 6 6 48
Sol. (A)

25in’0 —5sind +2>0
= (snb-2)(2sinb-1)>0

= sine<1
2
= 0e (O,EJU(E,ZR)
6 6
W — Wz

5. Ifw=o+ip, whereB=0andz=1, sﬁisfi%theconditionthat( P j ispurely real, then the set of values of zis
-z

A {z: IzZ=1} (B){z: z= 7}
O {z: z=1} D){z: |71=1,z=1}

Sol. (D)
W-Wz W-WZ
1-z 1-%
= (zZz-)(w-w)=0

= 7z=1 = \2\2:1 = |7=1.

6. Let a b, ¢ be the sides of atriangle. No two of them are equal and A e R. If the roots of the equation x2 + 2(a + b+ ¢) x
+ 3\ (ab+bc+ca)=0arered, then
4 5
A) A<— B) A>—
(A) 3 (B) 3
15 4 5
O re|z = D)ire|—, =
©ref33) e (33
Sol. (A)
D>0

= 4(a+b+c)?-12x (ab+bc+ca) >0
a?+b*+c® 2

= AL——M——+ =
3(@+bc+ca) 3
Sincela-b|<c= & +b?*-2ab<c? (1)
b-cl<a= b’+c®—2bc<d (2
c-a<b = ?+a-2ac<b’ ..(3)
2 2 2
From (1), (2) and (3), we getm <2.
ab+bc+ca

Hence >L<E+g = }L<ﬂ.
3 3 3
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Sol.

Sol.

Sol.

10.

Sol.

11.

Sal.

2 2
If f"(x) = — f(x) and g(x) = f'(x) and F(x) = (f (XD +(g(xn and given that F(5) = 5, then F(10) isequal to

2 2
(A)S (B) 10
@o (D) 15
(A)

f(x) = —f(x) and f'(x) = g(x)

= f'(x).fx)+f(x).f(x)=0

= {7+ (F(0)°=c = (f()*+(g(x)*=c
= FXx)=c = F10)=5.

If r, s, t are prime numbers and p, g are the positive integers such that the LCM of p, q is r’t*s, then the number of
ordered pair (p, g) is

(A) 252 (B) 254

(C) 225 (D) 224

(©)
Required number of ordered pair (p, ) is(2x3-1) (2x5-1) (2x 3-1) = 225.

Let 0 e (o, %j and t; = (tan0)™®, t, = (tan)™™, t; = (cotd)™ and t, = (cot0)™, then

A t>t>t3>1 B ta>t3>t> 1
O t>t1>t>1 D) ta>t3>t>1,

(B)
Given o e (O, gj ,thentan6 <1 and cot0 > 1.

Lettan6 =1-2X; and cotd =1+ XL, where, and A, are very small and positive.
then t, = (1-A,)" ™, t, = 1- 1)

ty= @+ A,) M and t, = (L+A,)""
Hencet; >t >t > to.

The axis of a parabolais along the liney = x and the distance of its vertex from origin is V2 and that from its focus is

2~/2 . If vertex and focus both liein the first quadrant, then the equation of the parabolais
(A) (X+ygz=(X—y—2) (B)(X—y)2=(><+y—2)
© x-y)y=4(kx+y-2 (D) (x-y)"=8(x+y-2)

(D)
Equation of directrix isx +y =0.
Hence equation of the parabolais

Xty _ 92 92
72 VX=2)"+(y-2)

Hence equation of parabolais
(x-y)* = 8(x+y-2).

A plane passes through (1, — 2, 1) and is perpendicular to two planes2x — 2y + z=0and X — y + 2z = 4. The distance
of the plane from the point (1, 2, 2) is
(A)O B)1

©) V2 (D) 242

(D)
Theplaneisa(x—1) +b(y +2) +c(z-1)=0
where2a—2b+c=0anda-b+2c=0
a b c
110
So, the equation of planeisx+y +1=0
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12.

Sol.

13.

Sol.

14.

Sol.

Distance of the plane from the point (1, 2, 2) = 142+1 =22

1?4722
Let é:iﬁ+2¢+l2,5:iA—]+lA< andé:f—]—lz.Avectorintheplaneof aand b whose projectionon € is
(A) 4i -]+ 4k (B) 3i+]-3k
(©) 21+ 2k (D) 4i +]-4k

(A)

Vector lyingintheplaneof @ and b is ¥ =Aa+1,b anditsprojectionon ¢ is =

NE

- . JR iy
= [(kﬁkz)i—(le—xz)j+(xl+x2)k][j\/§J:\/1§

= Dy-A=-1= F=(+1)i-j+ (3 +D)k

Hence the required vector is 4i - ] +4Kk .

Alternate:
Vector lyingintheplaneof a and b isa+Ab, and its projection onCis%.
. - < (i-j-k)) 1
= |@+Ni+2-N)j+Q+Vk-—F— |=—=
(( )i+ (2-0)j+@1+4) NE NE

= A=3.
Hence the required vector is 4i — j+ 4k .

Section — B (M ay have mor e than one option correct)
The equations of the common tangents to the parabolay = x?and y = — (x — 2)? is/are
(A)y=4(x-1) (B)y=0
QOy=-4(x-1) (D) y =—30x — 50

(A), (B)

Equation of tangentto x> =y is

1 5
=mMX— —m (3
y 2 @
Equation of tangent to (x — 2)>=—vy is
y=m(x-2)+ %mz .2

(2) and (2) areidentical.
= m=0or 4
Common tangentsarey =0andy = 4x — 4.

If f(x) = min{1, X, x%, then
(A) f(x) iscontinuous V x € R B)f(x)>0,vx>1
(C) f(x) is not differentiable but continuous V x € R (D) f(x) is not differentiable for two values of x

(A), (©)

f(x) = min. {1, X% x%} \ V
= f(x)={x3 o =t y=1

1 , x>1 y:ﬂy:xs

= f(x)iscontinuous V x € R
and non-differentiable at x = 1.
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15.

Sol.

16.

Sol.

17.

Sol.

A tangent drawn to the curvey = f(x) at P(X, y) cuts the x-axis and y-axisat A and B respectively such that BP: AP =3
.1, giventhat f(1) = 1, then

(A) equation of curveis xg—y -3y=0 (B) normal at (1, 1) isx+3y =4
X

(C) curve passes through (2, 1/8) (D) eguation of curveis xj—y +3y=0
X
(C), (D)

Equation of the tangent is

Y—yzﬂ(X—x)
dx
Given E=§ so that dy
AP 1 [O,y—xd—j B
dx dy dy X
—_— = —+3y=0
x 3y Ta Y P(x, Y)
= Inx:—élny—lnc: Inx® = - (Incy)
3 A
—~ L_g . Givenf()=1 = c=1 x-——Y 0
x3 dy/dx
oL
- 5

2 2

If a hyperbola passes through the focus of the ellipse % + Z—G =1 and its transverse and conjugate axes coincide with

the major and minor axes of the ellipse, and the product of eccentricitiesis 1, then
2 2 2 2
(A) the equation of hyperbolais % - % =1 (B) the equation of hyperbolais % - % =1

(C) focus of hyperbolais (5, 0) (D) focus of hyperbolais (5\/1—3 O)

(A), (C)
Eccentricity of ellipse = g

Eccentricity of hyperbola= g and it passes through (+ 3, 0)

2 2

. . XSy

= itsequation — - =1
eq 9 b?

2
where 1+b—=§ = b?’=16
9 9
X2 y2

——=-=1anditsfoci are (5, 0).
16

Internal bisector of ZA of triangle ABC meets side BC at D. A line drawn through D perpendicular to AD intersects
thesideACat Eandtheside AB at F. If g, b, ¢ represent sides of AABC then

(A) AEisHM of bandc ®) AD = 22 cos2
b+c 2
C)EF= 4bc Siné D) the triangle AEF isisosceles
b 2
+cC

(A). (B), (C), (D).
We have AABC = AABD + AACD
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A
= 1bcsinA:chDsinAJrlbeDsiné
2 2 2 2 2
= AD=2C P
b+c 2

) A E

Again AE=AD sec—
2 B c
D

=2—bC = AEisHM of band c.

b+c

F
EF=ED +DF=2DE=2x AD tan’> = 2X2€_ oA L tan
2 b+c 2 2

dbc . A
=———9SNn—

b+c 2
AsAD L EF and DE = DF and AD ishisector = AEFisisosceles.
Hence A, B, C and D are correct answers.

18. f(x) is cubic polynomia which haslocal maximum at x = — 1. If f(2) = 18, f(1) = -1 and f'(x) haslocal minimaat x =0,

then

(A) the distance between (-1, 2) and (a, f(a)), where x = ais the point of local minimais 2+/5
(B) f(x) isincreasing for x e [1, 2+/5 ]

(C) f(x) haslocal minimaatx =1

(D) the value of f(0) =5

Sol.  (B),(C)

The required polynomial which satisfy the condition

is f(x) = % (19x% - 57x + 34) /
f(x) has local maximum at x = —1 and local / -1 1
minimum at x = 1

Hencef(x) isincreasing for x [L 2\/5} .

19. Let A be vector parallel to line of intersection of planes P, and P, through origin. P, is paralle to the vectors 2] +3K
and 4]—3I2 and P, isparald to ]—R and 3f+3] , then the angle between vectors A and 2f+]—2l2 is
A 3 ®)
3
© ¢ (0)
Sol. (B), (D)

Vector AB is paralle to [(2? +3K) % (4) —312] x [(j— K)x (3 + 3])] =54(j - k)
Let 0 isthe angle between the vector, then

54+108 1
Cose:i(3,54\/§]:iﬁ
Hence 0=, 3%
4’ 4
e, 0<x<1 .
20. f(x)= {2-e 1<x<2 and g(x) = jf(t) dt,x e [1, 3] theng (x) has
X —¢, 2<x<3 0

(A) local maximaat x =1+In2andlocal minimaatx=e
(B) local maximaat x =1 and local minimaat x = 2

(C) nolocal maxima

(D) no local minima
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Sol.  (A), (B)
e 0<x<1
gx)=f(x)=42-e7 1<x<2
X-e 2<x<3

g(x)=0,whenx=1+In2andx =€
. :{—e"l l<x< 2}
1 2<x<3
g'(1+In2) =-€™ < 0henceat x = 1+ In 2, g(x) hasaloca maximum

g'(e) =1>0henceat x = e, g(x) hasloca minimum.
* f(x) isdiscontinuous at x = 1, then we get local maximaat x = 1 and local minimaat x = 2.
Section - C
Comprehension |

There are n urns each containing n + 1 balls such that the ith urn containsi white ballsand (n + 1 —i) red balls. Let u;, be the event
of selectingithurn,i=1,2, 3 ..., n and w denotes the event of getting awhite ball.

21. If P(u)oci,wherei=1,23,...n,then limP(w) isequal to
n—oo
2
A) 1l B) =
(A) (B) 3
3 1
C) — D) =
© 2 ( )4
Sol. (B)
P(u) = ki
ZP(uw) =1
k= 2
n(n+1)
n i 2
limPw) = im> —2 _ lim nn+den+l) _2
n—e meiin(n+1D)° e n(n+1)°6 3
22. If P(u;) = ¢, where c is a constant then P(u,/w) is equal to
2 1
A) — B) —
) n+1 (®) n+1
n 1
C) — D) =
© n+1 ©) 2
Sol. (A)
{ats)
p(ij:niﬂz 2
w S n+1
c
[(n+lj
23. If niseven and E denotes the event of choosing even numbered urn ( P(u;) = 1) ,thenthevalue of P(w/E) is
n
n+2 n+2
A B
) 2n+1 ®) 2(n+1)
n 1
C) — D) —
© n+1 ©) n+1
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Sol.  (B)
P(W)— 2+4+6+---n _ n+2

E)T n(n+l) 2+
2

Comprehension 11
o b-a
Suppose we define the definite integral using the following formula I f(x)dx = T(f (a)+f (b)), for more accurate result for
a
c—a a+b

b
ce (ab) F()="(f(a) +f (c))+%(f () +f(c)) Whenc= 272, [ oo =¥(f (@+f(0)+2f(c)) .

n/2

24. J' sinxdx isequal to
0
Y T
(A) 5(1++2) ®) 2(1+2)
T Y
© oz ® s
Sol.  (A)
n/2 o 0+

_[sinxdx:z sjn(0)+sjn(f)+2sin 2
! 4 2 2

:g(1+ V2).

25. Data could not be retrieved.

26. If f"(x) <0V X e (a b) and cisapoint such that a< c < b, and (c, f(c)) isthe point lying on the curve for which F(c) is
maximum, then f'(c) is equd to
A [(0)=1(2) 5 21(0)-f (@)
(A) b (B)
-a b-a
2f (b)-f(a)

© 2b-a

(D)0
So.  (A)
(F(c)=(b—a) f'(c) +f(a) — f(b)
F'(©) =f"(c) (b-a) <0
~ P=0 = (0 =7f(bé:f(a) .

Comprehension 11

Let ABCD be a square of side length 2 units. C;, isthe circle through vertices A, B, C, D and C; is the circle touching all the sides
of the square ABCD. L isalinethrough A.

2 2 2 2
27. If Pisapoint on C; and Q in another point on C,, then PA2 * P82 * PC2+ PD 5 isequal to
QA“+QB“+QC +QD
(A)0.75 (B)1.25
©1 (D)05
Sal. (A)
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28.

Sol.

29.

Sal.

>
Il
w N P

Let A, B, C and D be the complex numbers \/— , —\/E,\/Ei and —\/Ei respectively.

PA?+PB?+PC*+ PD® _ ‘21—\/5‘2+‘21+\/§‘2+‘21+*/§i‘2+‘21—\/§i‘2 :\zl\2+2:3

QA?+QB?+QC* +QD? ‘22+x/§‘2+‘22—«/§‘2+‘zz—ﬁi‘2+‘zz+«/§i‘2 2" +2 4

A circle touches the line L and the circle C; externally such that both the circles are on the same side of the line, then
thelocus of centre of the circleis

(A) dlipse (B) hyperbola
(C) parabola (D) parts of straight line
© G
Let C be the centre of the required circle.
Now draw aline parallel to L at adistance of r;
(radius of C,) fromit.
Now CP; = AC = Cliesonaparabola. (of
L
A

A line M through A is drawn parallel to BD. Point S moves such that its distances from the line BD and the vertex A
areequal. If locusof ScutsM at T, and Tz and AC at Ty, then area of AT T,T3is

(A) % Sg. units (B) % Sg. units
(C) 1 9. unit (D) 2 sg. units
(©)
©AG= 42
1 . .

. AT, =T,G= — [asAisthefocus, Tyis .

1 1 \/E [ 1 M D — C
the vertex and BD is the directrix of parabola). T. %
Also ToT3islatusrectum ... ToT3=4x L T2 7}\

V2 7 B
1 1 4 A
o Areaof AT;T,T3= Sx——=x—=1.
11213 2 \/E \/5 T3

Comprehension IV

00

1 0|, if Uy, U, and Us are columns matrices satisfying.
2 1

1 2 2

AU, =|0|, AU, =|3|, AU;=|3| and U is3x3 matrix whose columns are U,, U,, U3 then answer the following questions

30.

Sol.

0 0 1

Thevalueof |U|is

(A)3 (B)-3
(©) 32 (D)2
(A)

X
LetUbe |y | sothat

z
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1 0 0]|x 1 X 1
2 1 0||ly|=|0|=|y|=|-2
32 1|z 0 z 1
2 2
Similarly U= | -1|,Uz= | —-1{.
-4 -3
1 2 2
HenceU=|-2 -1 -1| and|U|=3.
1 -4 -3
3L The sum of the elementsof Ut is
(A)-1 (B)O
©1 (D)3
Sol. (B)
-1 -2 0
Moreoveradj U=|-7 -5 -3|.
9 6 3
HenceU™= % and sum of the elements of U™ = 0.
3
32. Thevalueof [3 2 OJU|2|is
0
(A)5 (B) 5/2
©4 (D) 312
Sol. (A)
3
Thevalueof [3 2 0JU|2
0
1 2 243
=[8 2 0]|-2 -1 -1{2
1 -4 -3j||0
3
=[-1 4 4]|2|=-3+8=5.
0
Section — D
33. If roots of the equation x? — 10cx — 11d = 0 are a, b and those of x? — 10ax — 11b = 0 are ¢, d, then the value of

a+b+c+dis(a b, canddaredistinct numbers)

Sal. Asa+b=10candc+d=10a
ab=-11d, cd=-11b

= a=121and(b+d)=9(a+c)
a®-10ac—11d=0
c?-10ac—11b=0
& +c®—20ac—11(b+d)=0
(a+c)>—22(121) - 11x 9(a+c) =0
(a+c¢) =121 or —22 (rejected)
a+b+c+d=1210.

LUy
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1

j (1-x%)1®dx
34. Thevalueof 50509——— is

-[(1_ XSO)lOldX

0

1

5050 j (1 x*)Pdx

Sol. =0 — 5050110
j (1- x%)%x 10
0

1
o = [ (= x®)(A-x¥)Pclx
0

1
=1y — .[x x* (1 x>y Pdx
0

o X (L X010t L ) L (1 x50y10t
10 101 5050

0

| = _ IlOl
101 — '100 5050

= 5050'1#'O =5051.
101

2 3 n
35. If a= %—(g] +(gj +---(—1)n_1(§] and b, = 1 — a, then find the minimum natural number ny such that
b,>a,Vn>n,

3 (3 (3) e
Sol. an_z—(zj +(Zj Fot (<) (Z)

g

1+—

b,>a, = 2a,<1

- )
R

1

n
6 < (—Zj = minimum natural number ny = 6.

36. If f(x) isatwice differentiable function such that f(a) = 0, f(b) = 2, f(c) = — 1, f(d) = 2, f(e) =0, wherea<b<c<d<e,
then the minimum number of zeroes of g(x) = (f(x))? + f*(x) f(x) in theinterval [a, €] is

d '
Sol. g(x) ™ (f(x)-f'(x))
to get the zero of g(x) we take function
h(x) =f(x) . f'(x)
between any two roots of h(x) there lies at least one root of h'(x) =0
= gx)=0
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h(x) =0
= f(x)=0 or f(x)=0
f(x) = 0 has 4 minimum solutions
f'(x) = 0 minimum three solution
h(x) = 0 minimum 7 solution
= h(X) = g(x) = 0 has minimum 6 solutions.

Section —E
37. Match the following:
Normals are drawn at points P, Q and R lying on the parabolay? = 4x which intersect at (3, 0). Then
0] Areaof APQR (A) 2
(i) Radius of circumcircle of APQR (B) 5/2
(iii) Centroid of APQR (© (5/2,0)
(iv) Circumcentre of APQR (D) (2/3,0)
Sol. Asnormal passes through (3, 0)

= 0=3m-2m-m°
= m=m=m=0, +1

m? +mj3 +m3
Centroidz[( 12 3),_2(m1+m2+m3)]_(2‘0j

3 3 3

-2m, +2m,

Circum radius = =2 units.

Q=(m3,-2m, )= (L-2)
R s(mg,—st) =12

Areaof APQR = %x 4x1=2gq. units.

Ro_ R 4
2sin/QPR  2sin(2tan™2)

4 4 5
= = =
2

.
2xsin(tan’1ij 2x=
1 5

", circumcentre= (goj

38. Match the following
/2 .
(i) I(sinx)cosx(cosxcotx—log(sinx)w)dx (A) 1
0
(ii) Areabounded by — 4y? = x and x — 1 = — 5y? (B) 0
(iii) Cosine of the angle of intersection of curvesy = 3** logx and
y=x*-1is (©)6In2
(iv) Data could not be retrieved.
(D) 4/3
nl2 )
Sol. (i) I= f (sinx)®™**(cosx - cot x — log(sinx)>™)dx
0
/2
= I= | —(sinx)®™dx =1.
[ 5 %)

0

i The points of intersection of —4y“=x and x —1=-5y“is(-4,-1) and (-4, 1
ii he poi fi ion of —4y? d 2j d

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi

FREE Education IIT-JEE 2006-MA-13

(iii)

(iv)

39.

Sal. (i)

(i)

(iii)

Hence required area= 2

H(l— Sy*)dy — T—4y2dy}
0

_4
! 3

The point of intersection of y = 3*Yogx and y = x* - 1is(1, 0)

X—1
Hence Q:S—Jr?"llog&logx. Lo
dx X

Yy
dX |1, o)
If 6 isthe angle between the curvethentan® =0 = cosb = 1.

d_(_2
dx (x+y
_, & _x_y

dy 2 2
1
-yl2 _ - a V2
= X€ —zfye dy

fory=x*-1.

= x+y+2=ke'?=3¢"

Match the following
(i) Tworaysinthefirst quadrant x +y = |g] and ax — y = 1 intersects
each other intheinterval a e (a, ), thevalueof & is
(i) Point (a, B,y) liesontheplanex +y +z=2. Let
é:(xiA+B]+y|2, I2><(I2><é)=0,theny=.

i) |J{a-y7)ov | (o2 -y

(iv) If sinA sinB sinC + cosA cosB = 1, then the value of sinC =

+

Solving thetwo equationsof ray i.e. x+y =|glandax -y =1
we get x=121"1 6 g y:|a|_1>0
a+1l a+1

whena+1>0;wegeta>1 .. ag=1.

Wehave a=oi+Bj+7k = a-k=y
Now; kx (kxa) = (k-a)k - (k-k)a

= vk — (cti + Bj + k)

=ai+Bj=0 = a=p=0
Asa+B+y=2 = y=2.

+

1
Ja-y*dy
0

0
[(v*-Day
1

1 5 4
=2£(1—y)dy=5

1 0 1
J‘\/l—xdx + '[\/1+ xdx| = ZI\/l— xdx
0 -1 0

1 1
=2J'\/;dx:2-g-x3’2 _4

° 3 o 3

(A) 2
(B) 413

(©) fx/l—_xdx + f\/1+_xdx
(D) ; ;
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(iv) sinA sinB sinC + cosA cosB < sinA sinB + cosA cosB = cos(A — B)
= cos(A-B)>1 = cosA-B)=1 = snC=1

40. Match the following
(i) Ztan&[?lzj:t,thentant= (A)O
i-1 1
(ii) Sidesa, b, c of atriangle ABC arein AP and
cos0; = a ,cosezzi,cosegz € then tanz[&jﬂanz(%j = (B)1
b+c a+c a+b 2 2
(iii) Alineis perpendicular to x + 2y + 2z = 0 and passes through (0, 1, 0). © g
The perpendicular distance of thisline fromthe originis
(D) 2/3
(iv) Datacould not be retrieved.
sl () St = |-
(@) Dtan > =t
i1 I
Now; itan’{#}
L 4% -1+1
=Y [t (2 +1) - tan (2 -1) |
i=1
=[(tan3-tan D) + (tan *5—tan 'Y+ + tan 20+ —tan (2 -1)...c0 |
-1 -1 . -1 2n
t=tan"(2n+1) -tan""1=limtan™"——
n—wo 1+(2n+1)
- tant=lim—L ===
noon+1 4
0
1-tan®-L
(i) Wehave 00591:762:i = a2 _bre-a
1+tan2 L b+c 2 b+c+a
0
1-tan?=3
Also, 00563:762:L = a2 _atb=cC
1+tan233 a+b 2 a+b+c
a2 2% 2D _2
2 2 3 3
(ifi) Line through (0, 1, 0) and perpendicular to planex + 2y + 2z = 0 is given by LIO:VT_lz%l:r .

Let P(r, 2r + 1, 2r) be the foot of perpendicular on the straight line then
rxl+(2r+1)2+2x2r=0 = r:_s

Point is given by (_Zé,_ﬂj

Required perpendicular distance = }% = % units.

(iv) Datacould not be retrieved.
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